\
CBCS/B.A./Hons./3rd Sem./PHIACORO05T/2020, held in 2021

e ey
e 7 =
oot

«\5'* ~ .‘%\
g EON

N
LN

/

AN

& L'ZRARY '5)

{
-
Y
922
=

00

—

y ’

‘Adzh

]

N Tl 2
WEST BENGAL STATE UNIVERSITY J‘; s
1B.A. Honours 3rd Semester Examination, 2020, held in 2021 ‘Vt‘gzﬁ/;'\"“';;;.-ié‘}//

N

P

PHIACOROST-PHIL,osorny (CCS)
HISTORY OF WESTERN PHILOSOPHY

Fime Allotted: 2 Hours Full Marks: 50
Uhe tigures o the margon indicate full marks #fgs ’57/‘47/7‘ 7478 3G 2|l feii #A
Candidates should answer i their own words ARGl e ST AU FET AN T
and adhere o the word limit as practicable. Gaq a1

All symbols are of usual significance.

Question No. 1 and 2 are compulsory. Answer any hwo from the rest
ST EARY W& ARE | SR - 715 red Ted wie
. Answer any five questions from the following: 2x5=10
frtere -t 7isf% eives See wiss

(a) What according to Locke is the source of Knowledge?
S S WK T F 9
(b) What does Locke mean by Primary qualities?
= Y1 @0 IS b JRITACA 2
(¢) What are the different types of complex ideas admitted by Locke?
FE AP Tioat 49 adrenaf G & o
(d) What is meant by Subjective Idealism?
WNGHNE ©IREAm 0o & @Il 7
(e) What is Nominalism?
A€W B 4 7
(f) What does Hume understand by idcas?
f2Sx «izen <eice i gfRiciczay
(g) State two examples ot matters of fact, atter Hume.
fZOAE Srepierel BT AT AN TS WG 716 Twrggel mie |
(h) What does Hume mean by ‘mitigated skepticism’?
28w Fae Hexrmam 3ot % FfRicTes ¢
(1) Mention two differences between Analytic and Synthetic proposition, after Kant.
FIOCE SRe P e @ AT T60a Weeg 1% “iefey @y
(J) What according to Kant, are the apriori forms of sensibility?
WW?@{T@?%S%W@%%%?
Why Kant’s epistemological theory is known as Critical Philosophy?
FICH IR TG (o Rt wafe 71 =21 9
Who (philosopher) woke whom (philosopher) from dogmatic slumber?
1w v wiforsces fafor frat s et @ ?

(k)

(h
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Answer any two questions from the following:

fferfae Q-(FIC g6 2i0d TG4 s

(a) What are the difference levels of knowledge according to Locke?

2.
(b)
(c)
(d)
(e)
(f)

3.

4.

5.

0.

7.

b
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Distinguish between Primary and Secondary qualities after Locke.
(@ R A Y @ (el TR ey ~11< fevef A

Discuss the role of God in Berkeley’s philosophy.

Explain in brief the principles of Association, after Hume.

RO Liaela Sard AiroefEa R A1 S

Discuss in brief the causal theory of constant conjunction after Hume.
IR T R Foo! TR 0F FLCFLA S I |

What precisely is the problem of Kant’s philosophy?

BI04 weiraa fapea o fe o

Define ideas after Locke. Does Locke admitted innate ideas” In this connection
discuss the different types ot ideas accepted by Locke.

T -(F T FCA RN TG W | G (6 FHGIe yraen Fed &7arze ¢ 93 A F 7
YA PRTON S AL FC@l |

Discuss critically the doctrine of Representative Realism.

2f SR TG ©GH ROWHS QLA F |

“Esse-est percipi” — Explain critically the main tenets of this thesis. Write 1n
brief whether this idealism is subjective or objective.

“ofey eerF A€ - 9% OIE IF 3G FAGME TWEFES F7a11 9% TMAF WY
TENC — MTFC (A

d

1

What does Hume mean by Impression and Ideas?” “ldeas are faint copies of

impression” — On what ground Hume proves this? Are these proofs acceptable?
BT Wuel ¢ a9 IS & IR 7 419 25 Jurea = afeq - @1 Ifeafe
fofare fzow aft e Ftarza ¢ 2 Ifoala i azermsy ¢

Do you think that Kant has brought about ‘Copernican Revolution” in
Philosophy? Is this claim justified?

1% & 7oyt olt witw ‘@ e e efbrafes ¢« #06a wiee @afese @oe sm@n

Explain the Kantian notion of a priori. How does Kant explain the distinction
between analytic apriori and synthetic apriori proposition? Explain in this
connection the nature of the proposition — *7+5 = 12",

FCDe e drae e Fcan Fena #1% o deiFe ¢ wmme doim
AT AILET I FTAR 9 9% 2FF ‘440 =33 - 9% 6D #&ETE A7 @A

N.B. : Students have to complete submission of their Answer Sc ripts through E-mail ” Whatsapp to
their own respective colleges on the same day . date of examination within | hour after end
of exam. Universine -~ College authorities will not be held responsible for swrong submission

(at in proper address). Students are stronghy advised not 1o submit multiple copies of the
same answer script.
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S*2=10

3+6+06

10+5

4+7+4

3+6+6
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